Compound Measures Revision

A

Dickance D k Mecs
eed <= €~q, -
Spae Time 1 Nolome.
Time = m Volume = Mess
Speed :bznxJ‘-]
'b:sel'&.—\cg_ = Sf((aﬂ X Ttm& mk(! - B-c.nh')"j P’ Vo (u-—ue

Tohe diver £rom A e € ot T0 L
Lor 2 hes., He thea Arives fron (e
b0 Asdoace. o6 1RO wiles in Sher, He £lag
Arives £eom  te D a AirsHance of 80 wliley

a(‘ 20 'M.p‘\'
What  was L 4Average 3peec/ For whole
:)O«JI‘K.L‘S ﬂro«« A éo D

Speed T t~e B\'S—l':nce

A - € S0 mphk 2 hes 100 i fes

g - ( ? L\.r} I'Zo ~les

C —_ D 201\_(’\ 4 hes 80 wiles
4 s 300 l—u(-f.j'

Ve ke e £ - Fl-_c;J'L( -Df}‘lc'a.v\ct
At 5 S}a A - ZLO - 333

Taa['u [ Tlh-Q 61 kpl'\




Cowfa\)no‘( A I’tc-S ALAS('('B é j /C'\3
C_Dh\(uunr( G L\«A &-—(c(‘) 8 j/Ck.j

gOS a4c A asreé ke wI%L IZOj J’F K

’(‘o MARC e C-D'—sﬂov‘\‘A &
wWhek s €he Jr.n(w(-} ot 2

Demrty of ¢ = Tkl Mo
To'l"'ul V"Uv\-\(

— SO + 1o

- 23.13 = 71,24
. 3
LQ»S:‘;\, Hﬁ.is Val Vol j/Ch—

A | 6403 €25 | 5% |8-33

B | 85/u2| t2og |25 |1S.00
)703 2‘3.33 C-\?




